PLEASE BE SURE TO INCLUDE ALL GRAPHS AND ALL NECESSARY STEPS TO SOLVING PROBLEMS. THANKS
1.      For the quadratic equation y = cx² + dx + e (where c, d and e are constants), what is the x-coordinate of the vertex?



2.      For the same quadratic equation as above, what is the y-intercept?



3.      Solve by the square root property: 4x² = 100



4.      Solve by completing the square:
 x² – 10x + 4 = 0



5.      Solve by using the quadratic formula:
5x² + 5x – 3 = 0



6.      Solve by the method of your choice:
x² – 7x + 3 = 0



7.      Solve by the method of your choice:
(x – 4)(2x – 5) = 14



8.      For y = – 2x² + 6x + 1, find the x-intercepts and the y-intercepts



9.      The equation 
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 models the fuel efficiency of a particular car, where M is measured in Miles/Gallon and x is the number of years after 1940. Find and interpret M(55).

10.   Solve the inequality [1/(x + 1)] > [1/(x – 1)]. State the solution set using interval notation.
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11. Which of the following graphs
best represents 4y = -x2?
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E) None of the above
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